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ember to indicate which point(s) you need in order to answer each question- Then, answer the question.

l. A flea’s jump can be modeled by the function h(d)= -0. 073d(d-33) where d is the horizontal distance i
centimeters and h is the corresponding height in centimeters.

a) How far can a flea jump?.{ ﬂ“A Hk x-nl.
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b) Mr. Magoo started a flea circus and set up 2 high bar jump that is 15 centimet

}ca m:(kc it over the hlgh ar? Explain.
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2. A wolfleaps out of the bushes and takes a hunter by surprise. Its trajectory can be mapped by the
ured in feet.

equation h(d) = —-(d —1)(d = 11), where h (height) and d (distance) are meas
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a) How high did the wolf jump? f 0,“/ -}W
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b) If the hunter was
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P of a tall building. The distance, in feet, between the rock and the ground t
en by h(t) = —16(5t — 26)(5t + 23)..

that the rock was thrown off? £ /1 eaj ‘lﬂ }’

i a) How tall was the buildin
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| 3. A rock is thrown from the to
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